
Odd
Semester Exam., 2018

ECONOMICS

(Honours)

5th Semester )

Course No. : ECOH-502

Pull Marks: 50
Pass Marks: 17
Time 2 hours

StUden will answer ECOH-550 (Arts) and

e students will answer ECOH-502 (Science

Te figures in the marginindicatefull marks
for thequestionsS

GF

GROUP-A
Course No. ECOH-502 (Arts)

(For Arts Students

(Statistics for Economics I
Answer five questions, taking onefrom each Unit

UNITI

lay State the essential points to be observed. (a)
in drafting a questionnaire.

h) Throw light on the important steps in

construction ot a requency

distribution.

(b
the

5+5 10

343 (Turn Over )
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and
of the distributionram anof the distribut

andatrbution dven
Un of

Welght (gm) 110-119 120-1*
on 9ven

o-129 12Frequency 5 1 7
Weight (gm)150-159 160-169

170-1b) Draw Oglve curves (both lese
than

Frequency 16
10

more than types)from thefrom thedistribution given in QuestionQuestion No.2278orf

UNIT-IIe1ASOd-HO8 13welin i3. a) What are the, characteristics.average?., Compare the mean, meiand mode in the light of the
(b) Can the values of mean, medianmode be, same? If yes, state th

ristics of a

characteristics.

2LA
situation.

Calculate the 'median and mode oft

followin9dno3 1ol eottaits
os3Ot Annual Sales eno:Prequency

000)
4

A

AL Less than 10

Lessthan 30p s gn 35

55

TI92do sd Less than 20r19289 a20

62
Lessthan 50)oLUTtam0

oi67

i 2g9ta tasLess than A010 1dg

Less than 60
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s 1 possibl

is 1t D1f possible, calculate it.

(3)
to caleulate the arithmetic11Can? If possible

4+2+4-10
validity of the following

scuss the

s1:atement:

Ataverage, when published should be
accompanied

dispersion,

by a measure of

interpre-
for significant

tation."

alculate the quartile deviation and its
oefficient from the following data

Class Interval Frequency
10-15

15-20

20-25
25-30

12
16
22
10
8
6

30-40
40-50
50-60

60-70
4+6 10

UNIT III
K

AtA

5. (a) State the
with reasons, whether

TOllowing statements are true orfalsee

(9 Coefficient of correlation between

TWO variables must be in the same

units asthe original data.
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f The correlation efficient

rainfall and wheat yield per hectat,
more agricultt

betwerbetwe
was found to be 08. H he.
rainfall means

production.

correlation between age and n.
habit of the people from the followin�

Pearson's coefficient

playine
b) Find Karl

data

Age group (years) No. of people No. of playe15 and less than 20 200
15020 and less than 25 270
16225 and less than 30 340
17030 and less than 35 360
18035 and less than 40 400
18040 and less than 45 300
120

(2+2)-6
A6. (a) Explain the difference between kadifference between KarPearson's (product moment) correlatiocoefficient Correlation

coefficient. and rank Correlation

(b) State
thecorrelation coefficient in eco

Sgnificance of rann coefficient in econ nicsJ9/34
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rank of the ten students in two

5 8 4 7 10 21 6

6 49 8 2 3 10 5 7

alculate coefficient of rank correlation

B are as followsojccts A and

3
9

a11d interpret the result. 3+2+5-10
RAN NV

UNIT-IV

Given two lines of regression, explainn

how you will find

the mean values

ti the regression coeficients byx and

bxy
fti the correlation coefiicient ru

iv the ratio of the s.d's o /o

9 You are supplied with the following

data

4x-5y+33 0, 20x-9y-107 0,

variance x=9

Calculate

19the mean values of x and ys

i) coefficient of correlation

between
x( standard deviation of y

4+610

and y.
Quer
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(a)
ax+y+C -0

And

aX
+b2 +C2 = 0

are
the

equations
of th

that

of the lineand xon
egression

of y on anr

respectively,
then prove that

ab S ah

Are

between two variables are expressed as

The equations of two regression lines

2x-3y 0 and 4y-5x-8n

ldentify regress1on equation of.
x and x on y.

(ü) Find and y and correlation
coefficient (7 from theequations.

446
UNIT-V

9. (a) State and prove the multüplication
theorem of probability.

b) A husband and wife appear in an
interview for two vacancies in the same
post. The probability of husband's
selection isand that of wife's selection7

What is the probability that5

both of them will be selected,J9/343
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ly
one

of them will be selected;

and prove Bayes's theorem.

hem will be selected? 4+6-10
none of

STale

restaurant serves two special dishes,

dish A and rest B. 70% of women

o
A to B should the restaurant prepare

A and B to its consumer Consisting of

and 40% women. 80% of men
0% men and

order

order

R and the rest A. ln what ratio ofts

IC
the two dishes? 4+6-10

4CHA
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8 GROUP-B

502 Science
Course

No. : ECOH-502

For Science Student

Elements of Econometrio

aking oneAnswer five questions, taking
from each Unit

UNIT-I

economnetrics1. Make a comparison between econo
and statistics. Why is the study
econometrics important in modern1
Discuss logically.

2. Define and interpret an econometric model
Make a comparison between econometrico

model
and mathematica economnics.

4+6
UNIT -II

3. Write short notes on the following: 2x5
(a Random variable

NAKA

b Random experiment

c) Mathematical expectation ca(d) Distribution function

e) Variance of a random variable9/343
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is toss Ahree times. Let,
17nber of heads

ind the followingthings
obtainedin

thecoin, Fi

2x5-10

shability of obtainin no head
771 roba

uEobability of obtaining at least two7he probabi

heads

he probability of obtaining atmost twoThe probabil

heads

Mathematical expectation of the

number of heads

Distribution function of the numberof

heads

UNIT-III

CHAR

la) Distinguish
between parameter andand

statistics.

b) Define sampling
distribution of a

b
statistics.Why population mean does

not have a sampling
distribution?

+1=3

Add a note on the utility of standard

c 3

error in econometric
analysis.

Turn Over)
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lal Define probability maas
(a)6 unctionility mass fu

the following probability distridetritnnatherma
Calculate the values of

mathetmaexpectation and variance

2
3AKdanMdeis

Px 5
e

b) Define probability density functi
distribution function of a continurandom variable Xis given as

PX= -3 +x-logx

the probability density funFind
of X.

UNIT -IV
YAR*

7. Write short notes on the following
a) Maximum likelihood method

(b) Standard OLS assumptions

8. Show that OLS estimators are Best LineUnbiased Estimators (BLUE) in theconter
a two-variable linear regression model
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UNIT-V

e problen

ss1On

eineAU
blem of

orrelation. How can one detectof autocorrelation in a multiplemodel? State the remedialxTESS1OTn
sures of autocorrelation.

2+4+4-10

Distinguishtish between perfect multicollinearitynd less tha perfect multicollinearity. How
one detect the problemCan

iticollinearity in a multiple regression
of

model?

adel? State the remedial measures of

multicollinearity. 2+4+410
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